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34Ty 3(d)

U4 1.

R I 4T (W)

& 779 [113] (@91sw
| 7]27]55]91]

UH 2.
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(P) 8 x (4) x (-5) =160

(M) (-10) x (-10) x (-10) =-1000
(T) (-2) x 35 x (-5) = 350

(&) (-8) x (+57)x0=0

() (1) x (-2) x (-3) x (4) =24
() (4) x (8) x (-12) x (-5) = 1920
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?d9:
(-7) x (0) x (-57) x (-57)

(M) 1456 x 625 - 456 x 625
?d:

1456 X 625-456x625=0
=625 (1456 — 456)

=625x 1000

=625000

(T) (-187) x (-54) + (-187) x (46)
?d9:

(-187) X (-54) + (-187) x (-46)

= -187[-54 + (46)]

-187 x (-100)

18700



(%) 18764 x 99 — (-18764)
°d:

18764 x99 — (-18764)

= 18764 [99 - (-1)]
=18764 x 100

= 1876400

(S) 15341 x (-2) + (-15341) x 98
ed:

15341 x (-2) + (-15341) x 98

= 15341 [-2 + (-98)]

= 15341 x (-100)

=-1534100

)

(-8) x {10-5-43 + 98}
?d:

(-8) x {10-5-43 + 98}
=(8) x 60 =480
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(@) -37

(@) 49
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(P)-37 +(-1) =37

(M) 49 = (-1) =-49

Mmo=(-1n=0
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(@) (3+2)x 7 BIAAGI

()3+2x7

(ii)3x7+2

(iii))3x7+2x7

(iv)3x7-2x7



°d:
(ifi)3x7+2x7

(@) (3-2)x 6 BTHM&:
(()3x6-2x6
(ii)3x6-2
(iii)3x6+2x6
(iv)3x2x6

°d:

(i()3x6-2x6

() (-8) X (-5) BT A B |
(i) -40

(ii) 40

(iii) 13

(iv) SuYerd § IS e
Bd:

(ii) 40
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(iili) BUTHS

Uy 7.

fafafed § a0 o1 3 TA18T (Ad-3 0 Bicdhy)-
(i) 5 FBONED Yuifeh! BT od UG SIS 8T 8 | (SF)

(if) ) BT YUITeh) &1 JUMHh YT Il & | (Hed)

(iii) 3 quTieh! # Tfe FHad Th BUINHS &, Al 36! [UHET BUTEHD gIdT 5 | ()
(iv) -17 BT ARG +17 81 (T)
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